BERHI4A~3A]

H294F EERT#R 7 & (ke) H30E EE AT = - (ke) TR 7180 1 (ke) AR 2 185 (%)
a (A) (B) (B)-(A)=(C) (B)/(A) % 100-100=(D)
o |48 668,610 776,390 107,780 16.12
" 58 839,250 827,120 -12,130 -1.45
5 68 804,270 801,820 -2,450 -0.30
= | 7R 861,370 913,050 51,680 6.00
f 8h 955,100 899,960 -55,140 -5.77
4 | 98 807,070 774,540 -32,530 -4.03
g | 108 836,750 864,360 27,610 3.30
¢ [ 1A 785,630 815,530 29,900 3.81
3 [12A 799,200 848,070 48,870 6.11
g 1A 768,980 779,400 10,420 1.36
— | 28 617,290 641,860 24,570 3.98
38 747,290 718,350 -28,940 -3.87
Akt 9,490,810 9,660,450 169,640 1.79
25 790,901 805,038 14,137 -
BE®ml4A~3A]
H2ofE AT # & (kg) H30EERAC # = (kg) AXCHIERE (ke) HAREHEBE (%)
1 (A) (B) (B)-(A)=(C) (B)/(A) % 100-100=(D)
48 54,700 62,758 8,058 14.73
x 58 169,480 149,860 -19,620 -11.58
; 68 198,721 196,125 -2,596 -1.31
= | 78 8,480 5,920 -2,560 -30.19
f 8h 83,707 77,920 5,787 -6.91
4 | 98 231,680 234,060 2,380 1.03
g | 108 46,396 74,317 27,921 60.18
¢ [ 1A 51,560 61,395 9,835 19.07
3 [12A 228,705 280,672 51,967 22.72
g 1A 109,640 135,030 25,390 23.16
— | 2R 75,435 88,369 12,934 17.15
3R 130,510 137,150 6,640 5.09
& 1,389,014 1,503,576 114,562 8.25
E 25 115,751 125,298 9,547 =
- w48 ~3A]
fj H29E ESyHAR—/i—& (kg) H30EEESyH RR—/—E (kg) SYHAR—IR—EE (k) SYHAR—/R—BRE (%)
5 (A) (B) (B)-(A)=(C) (B)/(A) X 100-100=(D)
2 48 54,640 47,360 -7,280 -13.32
< |58 42,670 41,660 -1,010 -2.37
| 68 35,090 39,320 4,230 12.05
;< 18 41,880 37,000 -4,880 -11.65
| .88 41,710 39,892 -1,818 -4.36
s | 98 39,930 40,710 780 1.95
— | 108 35,580 40,380 4,800 13.49
4 [ 1A 40,310 35,490 -4,820 -11.96
g5 [12R 45,450 52,410 6,960 15.31
s | 18 48,540 43,860 -4,680 -9.64
3 | 2R 37,440 37,190 -250 -0.67
A | 38 56,200 54,230 -1,970 -351
— | &t 519,440 509,502 9,938 -1.91
Eiy 43,287 42,459 -828 -
HwM[48~3A]
H29EEZ DT 5= (ke) H30EEZ DT 5= (ke) ZDtT SR (ke) ZD TS EE (%)
z (A) (B) (B)-(A)=(C) (B)/(A) % 100-100=(D)
o | 48 30,480 28,830 -1,650 -5.41
# | 58 31,540 30,920 -620 -1.97
7| 68 27,310 30,470 3,160 11.57
5| 18 31,420 28,410 -3,010 -9.58
2| 8H 32,270 32,100 -170 -0.53
~ [ 98 30,490 32,020 1,530 5.02
4 [ 108 26,810 30,240 3,430 12.79
A 1A 29,440 26,260 -3,180 -10.80
$ [12A 28,490 32,130 3,640 12.78
3 [ 18 32,860 29,890 -2,970 -9.04
A28 26,040 26,340 300 1.15
— [ 38 30,870 30,930 60 0.19
&t 358,020 358,540 520 0.15
i 29,835 29,878 43 -
HrMH[48~3A8]
H29E ERRME (ke) H30sE ERRME (ke) ERMIEEE (kg) BRI E (%)
(A) (B) (B)-(A)=(C) (B)/(A) x100-100=(D)
& | 48 218,056 208,340 -9,717 -4.46
B | 58 268,804 260,974 -7,831 -2.91
| 68 198,334 190,224 -8,110 -4.09
2| 78 176,452 174,298 -2,154 -1.22
—~ | 88 217,072 207,242 -9,830 -4.53
4 9h 178,820 173,664 -5,157 -2.88
A [ 108 249,896 272,798 22,901 9.16
§ 118 225,882 196,147 -29,734 -13.16
3 1128 216,074 209,659 —6,416 -2.97
A8 189,437 189,464 27 0.01
— [ 28 163,110 169,757 6,647 4.08
38 182,133 172,063 -10,070 -5.53
&t 2,484,070 2,424,627 -59,443 —2.39
i 207,006 202,052 —4,954 =




